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Answer all six questions.

(_ Modules I to 6: Part'a' of each question is compulsory and answer either part 'b' or part 'c' of each question.
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3. a What is swapping? Give example.

Name: ...........\-i'.$:'.:'.*.:.:/,t,t' 
:\.,,\! ,.:3\1., -f,"? tE i

Marks

3

Marks

3

Marks

3

Q. No. Module 1

l. a Explain how interrupts are handled in Composite Risc Architecture

Answer b or c

b Explain the System calls and System call Interface. Give an example of file and l/O

system calls.

c Explain process switching.

Q. No. Module 2

2. a What is interprocess communication?

6

6

Answer b or c

b What is race condition? Consider two processes A and B trying to access a shared 6

variable. How they can be given access to increment the variable thereby avoiding race

condition? Justify your idea.

c Describe deadlock in detail. What are the necessary conditions for dead lock? 6

Module 3

Answer b or c



There are two object modules being combined in the load mo&rle, Modulel and
Module2' Modulel is 11Ob1fies lo16 and the grodule2 is 23€ bytes long. Suppose there
is a data cell named x in module 2 at address 150 and a reference to that address is
inctuded at'address 85, Discuss v0ith the help of diagram tpw this object module gets
re{ocated'into'i- load modufe .

Explain Gbb;Jf fage Re$acenent algorithrns.

6

6

3. 
*o. Module 4

Answer b or c

D Write rptes on Disk devies and SCSI Interfrces.f,_

c Explain the different Disk Driver strategies.

Marks

3

Msrks

4
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4
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5. a Discuss the logical file structure.

Q.No.

d. a What is cache invalidation?

Answer b or c

b Explain briefly how we can implement a file system.

c Describe how blocks are located on a disk.

Module 5

Module 6

8

8

Answer b or c

b Describe in detail thequeuing models of scteduling.

c Explain how the protection information is represented in an os.

8

8


